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Tnpsc group I / ii preliminary  
WEEK TEST 2 OF MAY, 2023 

 
1. Should one throughout a single birth, like a __________ keep in his five 

senses, the fruit of it will prove a safe-guard to him throughout the seven-
fold births. 
a. Yak  b. Elephant     c. Tortoise  
d. Tiger  e. Answer not known 
xU gpwg;gpy; ___________ Nghy; Ik;nghwpfisAk; mlf;fpahs 
ty;ytdhdhy; m/J mtDf;Fg; gy gpwg;gpYk; fhg;ghFk; rpwg;GilaJ. 
a. fthpkhd; b. ahid      c. Mik  
d. Gyp   e. tpil njhpatpy;iy 

 
2. According to Valluvar in this Kural who are all should have control over 

the tongue? 
a. learned people  b. Those in high office like the king 
c. knowledged person d. All are  
e. Answer not known 
“___________ MapDk; ehfhf;fh" vd;W njhlq;Fk; Fwspy; ahh; ehit 
mlf;fpahs Ntz;Lk; vd jpUts;Sth; ,ak;Gfpwhh;.  
a. fy;tpawpT ngw;Nwhh;  
b. kd;dh; Nghd;w cah;e;j gjtpapy; cs;Nshh; 
c. nka;awpT cilNahh;  
d. vy;NyhUk;  

 
3. Propriety of conduct leads to eminence, it should therefore be preserved 

more carefully than _______ 
a. Education  b. Wealth    c. Life 
c. Valour   e. Answer not known 
xOf;fNk vy;NyhUf;Fk; Nkd;ikiaj; jUtjhf ,Ug;gjhy;> me;j xOf;fk; 
vijtplr; rpwe;jjhfg; Nghw;wg;gLk;?  
a. fy;tpiatpl  b. nry;tj;ijtpl   c. capiutpl  
d. tPuj;ijtpl   e. tpil njhpatpy;iy 
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4. Just as the envious man will be without _________, so will the man of 
destitute of propriety of conduct be without greatness. 
a. Wealth  b. Effort     c. greatness 
d. Suffering e. Answer not known 
nghwhik cilatdplj;jpy; __________ ,y;yhjthW Nghy> xOf;fk; 
,y;yhjtDila tho;f;ifapy; cah;T ,y;iyahFk;.  
a. Mf;fk;  b. Cf;fk;     c. tpOg;gk;   
d. ,Lk;ig  e. tpil njhpatpy;iy 
 

5. Who does not deviate from morality? 
a. hauteur persons   b. mentally strengthen persons  
c. low knowledgeable persons d. hostility person 
e. answer not known 
xOf;fj;jpdpd;W ePq;fhjth; ahh;?  
a. nrUf;FilNahh;   b. kdtypik cilNahh;  c. Gy;ywpTilNahh; 
d. ,fy; cilNahh;   e. tpil njhpatpy;iy 
 

6. Propriety of conduct is the seed of _________ 
a. The possession of love b. Courtesy    c. virtue 
d. hearing    e. Answer not known 
ed;wpf;F tpj;jhtJ vJ?  
a. md;G     b. gz;G     c. ey;nyhOf;fk;  
d. Nfs;tp    e. tpil njhpatpy;iy 
 

7. Choose the apt Kural for the following meaning 
Those who study propriety of conduct will not speak evil, even forgetfully 
a. It cannot be that they who 'strict decorum's' law fulfil, 

E'en in forgetful mood, should utter words of ill 
b. 'Tis source of dignity when 'true decorum' is preserved; 

Who break 'decorum's' rules endure e'en censures undeserved 
c. The strong of soul no jot abate of 'strict decorum's' laws, 

Knowing that 'due decorum's' breach foulest disgrace will cause 
d. The envious soul in life no rich increase of blessing gains, 

So man of 'due decorum' void no dignity obtains 
e. Answer not known 
jPa nrhw;fis jtwpAk; jk;Kila thahy; nrhy;Yk; Fw;wk;> xOf;fk; 
cilath;f;Fg; nghUe;jhjjhFk;. vd;gij czh;j;Jk; Fws; vJ?  
a. xOf;f Kilath;f;F xy;yhNt jPa  

tOf;fpAk; thahw; nrhyy;. 
b. xOf;fj;jpd; va;Jth; Nkd;ik ,Of;fj;jpd;  

va;Jth; va;jhg; gop. 
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c. xOf;fj;jpd; xy;fhh; cuNthh; ,Of;fj;jpd;  
Vjk; gLfhf; fwpe;J  

d. mOf;fh Wilahd;fz; Mf;fk;Nghd;W ,;y;iy  
xOf;f kpyhd;fz; cah;T  

e. tpil njhpatpy;iy 
 
8. If A : B = 2 : 5, B : C = 15 : 7, find the ratio of A : B : C. 

a. 2 : 5 : 7   b. 3 : 15 : 7   c. 6 : 15 : 7   
d. 6 : 15 : 14  e. Answer not known 
A : B = 2 : 5, B : C = 15 : 7 vdpy;> A : B : C apd; tpfpjj;ijf; fhz;f. 
a. 2 : 5 : 7   b. 3 : 15 : 7   c. 6 : 15 : 7   
d. 6 : 15 : 14  e.  tpil njhpatpy;iy 

 
9. The mean of a, b, c, d and e is 28. If the mean of a, c and e is 24, then the 

mean of b and    d is  
a. 24   b. 36     c. 26 
d. 34   e. Answer not known 
a, b, c, d kw;Wk; e ,d; ruhrhp 28. a,c kw;Wk; e ,d; ruhrhp 24> vdpy; b 
kw;Wk; d ,d; ruhrhp 
a. 24   b. 36     c. 26 
d. 34   e. tpil njhpatpy;iy 

 
10. The sum of the ages of A and B is now 110 years and their ages 20 years 

ago were in the ratio of 4: 3. The age of A is 
a. 60   b. 55     c. 50   
d. 35   e. Answer not known 
A kw;Wk; B d; nkhj;j taJ jw;NghJ 110. ,UgJ tUlj;jpw;F Kd;G 
mth;fspd; taJ tpfpjk; 4 : 3 vdpy; A d; taJ  
a. 60   b. 55     c. 50   
d. 35   e.  tpil njhpatpy;iy 

 
11. In Arikkamedu, the excavation was conducted by 

a. Dr. Jagor   b. Stuward  c. Robert Bruce Foote 
d. Martimer wheeler  e. Answer not known 
mhpf;fNkl;by; GijnghUs; Muha;r;rpia Nkw;nfhz;lth; 
a. lhf;lh;. N[fh;   b. ];^th;l; 
c. uhgh;l; G&];Gl;  d. khh;bkh; tPyh;  e. tpil njhpatpy;iy 
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12. Consider the statements on the middle Palaeolithic period and pick out 
the correct answer. 
i. The tools are smaller in size 
ii. They are found at Attirampakkam, Gudiyam and Vadamadurai 
iii. Urn burials have been found 
iv. Cultivated food plants  
a. (i) and (ii) are correct  b. (ii) and (iii) are correct   
c. (iii) and (iv) are correct  d. (i) and (iv) are correct  
e. Answer not known 
,il goq;fw;fhyk; gw;wpa gpd;tUk; nrhw;nwhlh;fis ftdpf;f. gpd; 
rhpahd gjpy;fis Njh;e;njLj;J vOJf 
i. fUtpfs; mstpy; rpwpad 
ii. mjpuhk;ghf;fk;> Fbak;> tlkJiu Mfpa ,lq;fspy; ele;j 

mfo;tuha;r;rpapy; fpilj;Js;sd.  
iii. KJkf;fs; jhopfs; fpilj;Js;sd 
iv. czTg;gaph;fis gaphpl;ldh; 
a. i kw;Wk; ii rhp   b. ii kw;Wk; iii rhp  c. iii kw;Wk; iv rhp 
d. i kw;Wk; iv rhp   e. tpil njhpatpy;iy 

 

13. Match the place of excavation with the district it is located:  
 Place of excavation     District  

A. Keezhadi      1. Thoothukudi  
B. Korkai       2. Ariyalur  
C. Gangaikonda Cholapuram   3. Thanjavur  
D. Kurumbanmedu     4. Sivagangai  
 A B C D 
a. 4 3 2 1  
b. 3 2 1 4  
c. 4 1 2 3 
d. 1 4 3 2  e. Answer not known 

 mfo;thuha;r;rp ,lq;fis mjd; khtl;lj;Jld; nghUj;Jf:  
 mao;thuha;r;rp ,lq;fs;    khtl;lk;  
 A. fPob      1. J}j;Jf;Fb  
 B. nfhw;if      2. mhpaY}h;  
 C. fq;if nfhz;l NrhoGuk;  3. jQ;rhT+h;  
 D. FUk;gd;NkL     4. rptfq;if  

A B C D 
a. 4 3 2 1  
b. 3 2 1 4  
c. 4 1 2 3 
d. 1 4 3 2   e. tpilnjhpatpy;iy  
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14. Which archaeological site is described in the below statements? 
i. This place is situated on the bank of the Thamiraparani river. 
ii. There are Urn burial site spread over 114 acres of land.  
a. Adichanallur   b. Arikamedu   c. Keelavalavu 
d. Kalugumalai   e. Answer not known 
fPo;f;fz;l $w;Wf;fs; ve;j njhy; nghUs; jsj;ijg; gw;wp tpthpf;fpwJ? 
i. ,e;j ,lk; jhkpuguzp Mw;wpq; fiuapy  mike;Js;sJ. 
ii. jhopfs; Gijf;fg;gl;l fsk; 114 Vf;fh; gug;gstpy; gutp 

fhzg;gLfpwJ. 
a. Mjpr;rey;Y}h;   b. mhpf;fNkL   c. fPotsT 
d. fOFkiy   e. tpil njhpatpy;iy 

 
15. One among the following inscriptions speaks about the village 

administrations of the Pallavas. 
a. Manur Inscription    b. Thiruchirapalli Inscription 
c. Kalugumalai Inscription   d. Ervadi Inscription 
e. Answer not known 
fPo;tUtdtw;Ws; xd;W gy;ytu;fsJ fpuhk epu;thfj;ijf; $Wk; fy;ntl;L 
MFk;. 
a. khD}u; fy;ntl;L    b. jpUr;rpuhg;gs;sp fy;ntl;L 
c. fOFkiy fy;ntl;L   d. Vu;thb fy;ntl;L 
e. tpil njupatpy;iy 

 
16. Under the Indian Citizenship Act 1955, one can acquire Citizenship by 

i. Birth i. Descent   ii. Marriage  iii. Registration 
a. i only   b. ii only    c. i, ii and iii   
d. i, ii and iv  e. Answer not known 
,e;jpaf; FbAhpikr; rl;lk; 1955-d; fPo; xUth; ,e;jpaf; Fbkfdhf 
Ntz;Lnkd;why;  
i. ,e;jpahtpy; gpwe;jpUf;f Ntz;Lk; 
ii. ,e;jpa tk;rhtspahf ,Uf;f Ntz;Lk; 
iii. ,e;jpaiu kze;jpUf;f Ntz;Lk; 
iv. FbAhpikf;fhfg; gjpT nra;jpUf;f Ntz;Lk; 
a. i kl;Lk;   b. ii kl;Lk;    c. i, ii kw;Wk; iii 
d. i, ii kw;Wk; iv  e. tpil njhpatpy;iy 

 
17. Consider the following statements regarding NRI’s Voting Right.  

i. NRIs can vote in parliamentary as well as assembly elections  
ii. Only EPIC issued NRI s can vote 
iii. Original passport should be shown at the polling booth 
iv. NRIs can vote through postal ballots 
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a. i and ii are wrong   b. ii and iii are wrong 
c. ii and iv are wrong   d. iv only wrong  
e. Answer not known 
ntspehL tho; ,e;jpah;fspd; thf;Fhpik Fwpj;j fPo;fz;l $w;Wfis 
ftdpf;fTk;   
i. ntspehL tho; ,e;jpah;fs; ehlhSkd;wk; kw;Wk; khepy rl;lkd;w 

Njh;jy;fspy; thf;fspf;fyhk;. 
ii. thf;fhsh; milahs ml;il toq;fg;gl;l ntspehL tho; ,e;jpah;fs; 

kl;LNk thf;fspf;f KbAk; 
iii. thf;Fr; rhtbapy;mry; flTr;rPl;L fhz;gpf;fg;gl Ntz;Lk; 
iv. ntspehL tho; ,e;jpah;fs; jghy; %yk; thf;fspf;fyhk; 
a. i kw;Wk; ii jtW   b. ii kw;Wk; iii jtW  
c. ii kw;Wk; iv jtW   d. iv kl;Lk; jtW   
e. tpil njhpatpy;iy 

 
18. If ratio of three numbers is 10 : 15 : 24 and their sum is 196 find the 

smallest number? 
a. 40  b. 24  c. 36    d. 49 e. Answer not known  
%d;W vz;fspd; tpfpjk; 10 : 15 : 24 kw;Wk; mjd; $l;Lj; njhif 196 
vdpy; me;j vz;zpy; rpwpa vz;iz fz;Lgpb.  
a. 40  b. 24  c. 36    d. 49 e.  tpil njhpatpy;iy 

 
19. If the average of the values 9, 6, 7, 8, 5 and x is 8. Find the value of x.  

a. 12  b. 13  c. 10  d. 9   e. Answer not known 
9,6,7,8, 5 kw;Wk; x Mfpatw;wpd; ruhrhp 8 vdpy; xd; kjpg;G fhz;f.  
a. 12  b. 13  c. 10  d. 9   e.  tpil njhpatpy;iy 

 
20. Raman’s age is three times the sum of the ages of his two sons. After 5 

years his age will be twice the sum of the ages of his two sons. Then the 
present age of Raman is what?  
a. 45  b. 55  c. 65  d. 70  e. Answer not known 
,uhkdpd; taJ mtUila ,U kfd;fSila taJfspd; $Ljiyg;Nghy; 
%d;W klq;fhFk;. Ie;jhz;Lfs; fopj;J mthpd; taJ jdJ kfd;fSila 
taJfspd; $Ljiyg; Nghy; ,U klq;fhFk; vdpy; ,uhkdpd; jw;Nghija 
taJ vd;d? 
a. 45  b. 55  c. 65  d. 70  e. tpil njhpatpy;iy 

 
21. Under which circumstances the Indian Citizenship cannot be terminated? 

a. At the time of emergency b. At the time of war 
c. At the time of Elections  d. All of these 
e. Answer not known 
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ve;j #o;epiyapy; xUtuJ ,e;jpa FbAhpikia ePf;f KbahJ? 
a.  mtru epiy mkypy; cs;s NghJ  
b. Nghh; ele;J nfhz;bUf;Fk; NghJ 
c. Njh;jy; eilngWk; NghJ     
d. NkNy cs;s midj;Jk;  
e. tpil njhpatpy;iy 

 
22. Match the following 

A. Food and water    1. Fomite – Borne transmission 
B. Mosquitos & Houseflies   2. Air – Borne transmission 
C. Clothes & Syringes   3. Vehicle – Borne transmission 
D. Droplets & Duet    4. Vector – Borne transmission 

  A B C D 
a. 3 1 2 4 
b. 3 4 2 1 
c. 3 4 1 2 
d. 4 3 1 2 
nghUj;Jf.  
A. czT kw;Wk; jz;zPh;       1. nghUs; top flj;jy; 
B. nfhR kw;Wk; <        2. fhw;W top flj;Jjy; 
C. Jzp kw;Wk; Crp        3. jpl> jput rhjdk; top flj;Jjy; 
D. vr;rpy; (m) rspJsp kw;Wk; J}rp 4. flj;jp top flj;Jjy; 

  A B C D 
a. 3 1 2 4 
b. 3 4 2 1 
c. 3 4 1 2 
d. 4 3 1 2 

 

23. Match correctly the common name with the Genus name of nematode 
parasites 
A. Ancyclostoma  1. Whip Worm 
B. Enterobius   2. Hook Worm 
C. Wuchereria   3. Pin Worm 
D. Trichuris   4. Filarial Worm 

A B C D 
a. 1 3 4 2 
b. 2 3 4 1 
c. 3 4 2 1 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
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E}w;GO xl;Lz;zpfspd; Nghpdg; ngaUld; nghJthd ngaiu rhpahfg; 
nghUj;jTk; 
A. md;irf;Nyh];Nlhkh 1. rhl;il GO 
B. vd;NlhNuhgpa];  2. nfhf;fp GO 
C. tr;nrNuhpah   3. Ks; GO 
D. l;iuFhp];   4. /igNyhpay; GO 

A B C D 
a. 1 3 4 2 
b. 2 3 4 1 
c. 3 4 2 1 
d. 2 1 4 3 
e. Answer not known 

 
24. Human Development Index is constructed on the basis of  

I. Life expectancy at birth    II. Standard of Living 
III. Educational attainments   IV. Morbidity  
a. I, II and III are correct   b. II and III are correct   
c. III and IV are correct   d. I, II, III and IV are correct    
e. Answer not known  
kdpj Nkk;ghl;Lf; FwpaPL fPo;tUtdtw;Ws; vjd; mbg;gilapy; 
cUthf;fg;gl;Ls;sJ?  
I. tho;ehs; (MAl; fhyk;)  II. tho;f;if juk;  
III. fy;tp jFjp    IV. NehAw;w jd;ik  
a. I, II kw;Wk; III rhp  b. II kw;Wk; III rhp   c. III kw;Wk; IV rhp  
d. I, II, III kw;Wk; IV rhp  e. tpil njhpatpy;iy  

 
25. State whether the statements are true or false. 

i. In Mixed Economy, both Public and Private Sector Co-exists 
ii. Mixed Economy is followed in  India 
a. Both i and ii are true   b. Both i and ii are false 
c. i is true but ii is false   d. i is false but ii is true 
e. Answer not known 
fPo;f;fz;l $w;Wfs; rhpah jtwh vd;gijf; Fwpg;gplTk;. 
i. fyg;G nghUshjhuj;jpy;> nghJ kw;Wk; jdpahh; Jiw ,uz;Lk; 

,ize;J ,Uf;Fk;. 
ii. ,e;jpahtpy; fyg;Gg; nghUshjhu Kiw gpd;gw;wg;gLfpwJ. 
a. i kw;Wk; ii ,uz;Lk; rhp   b. i kw;Wk; ii ,uz;Lk; jtwhdit 
c. i rhp; Mdhy; ii jtwhdJ   d. i jtwhdJ; Mdhy; ii rhp 
e. tpil njhpatpy;iy 

 
 



 

9 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

26. Repo rate means 
a. Rate at which the Commercial Banks are willing to lend to RBI 
b. Rate at which the RBI is willing to lend to commercial banks 
c. Exchange rate of the foreign bank 
d. Growth rate of the economy 
e. Answer not known 
nug;Ngh tpfpjk; vd;gjd; nghUs; 
a. tzpf tq;fpfs; hprh;t; tq;fpfSf;F mspf;Fk; flDf;fhd tl;b tpfpjk; 
b. hprh;t; tq;fp tzpf tq;fpfSf;F mspf;Fk; flDf;fhd tl;b tpfpjk; 
c. me;epa nryhtzp khw;W tpfpjk; 
d. nghUshjhu tsh;r;rp tpfpjk; 
e. tpil njhpatpy;iy 

 
27. Net National Product (NNP) at factor cost is, 

a. Equal to national income  b. Always more than GNP 
c. More than the national income d. Less than National income 
e. Answer not known 
fhuzp nrytpy; epfu Njrpa cw;gj;jp (NNP) 
a. Njrpa tUkhdj;jpw;F rkk;  b. GNP ia tpl vg;NghJk; mjpfk; 
c. Njrpa tUkhdj;ij tpl mjpfk; d. Njrpa tUkhdj;ij tpl FiwT 
e. tpil njhpatpy;iy 

 
28. A, B and C divide an amount of profit among themselves in the ratio 

1 1 1
: :

2 3 4
. If   the profit amount is Rs.624 find the share of B? 

a. Rs.162   b. Rs.192    c. Rs.200  
d. Rs.250   e. Answer not known 

%d;W Ngh; (A, B, C) mth;fspd; nkhj;j yhgj;ij KiwNa 
1 1 1

: :
2 3 4

vd;w 

tpfpjj;jpy; gphpj;jspf;fg;gLfpwJ. nkhj;j yhgkjpg;G &.624. mjpy; B-d; 
gq;F vd;d? 
a. Rs.162   b. Rs.192    c. Rs.200  
d. Rs.250   e. tpil njhpatpy;iy 

 
29. The average mark of 25 students was found to be 78.4. Later on, it was 

found that score of 96 was misread as 69. Find the correct mean of the 
marks. 
a. 77.32   b. 79.48    c. 79.84 
d. 97.84   e. Answer not known 
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25 khzth;fspd; ruhrhp kjpg;ngz; 78.4 ,q;F 96 vd;w kjpg;ghdJ 69 vdj; 
jtWjyhf vLf;fg;gl;lJ fz;lwpag;gl;lJ vdpy;> kjpg;ngz;fSf;fhd 
rhpahd ruhrhpiaf; fhz;f. 
a. 77.32   b. 79.48    c. 79.84 
d. 97.84   e. tpil njhpatpy;iy 

 
30. The third Proportional to (a2 – b2) and (a – b) is  

(a2 – b2)  kw;Wk; (a – b)  f;F %d;whk; tpfpjhr;rhuk; fhz;f.  

a. (a+b)  b. (a-b)     c. 
a b

a b

+

−
   

d. ( )

( )

a b

a b

−

+
  e. tpil njhpatpy;iy

 
 
 
31. World Health Day 

a. 7th November   b. 7th January    c. 7th October   

d. 7th April    e. Answer not known 
cyf Rfhjhu jpdk;  
a. etk;gh; 7   b. [dthp 7    c. mf;Nlhgh; 7 
d. Vg;uy; 7    e. tpil njhpatpy;iy 

 
32. Identify the correct statements 

1. Global Millets conference has been inaugurated in Pusa by the PM. 
2. The year 2023 is declared the international year of millets by UN based 

on India’s proposal. 
a. 1 only    b. 2 only    c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf. 
1. cyfshtpa rpWjhdpaq;fs; khehL> gpujkuhy; G+rhtpy; njhlq;fg;gl;lJ. 
2. ,e;jpahtpd; Kd;ndLg;ghy;> 2023 Mk; Mz;il rh;tNjr rpWjhdpa 

Mz;lhf I.eh. mwptpj;jJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;    
c. 1 kw;Wk; 2 ,uz;Lk; d. 1 kw;Wk; 2 ,uz;Lky;y  
e. tpil njhpatpy;iy 
 

33. Umagine Chennai 2023 refers to, 
a. Asia’s largest summit on technology and innovation. 
b. World conference on financial accounting 
c. Asian summit on information and education innovations. 
d. National conference on mechanical and automobile engineering 
e. Answer not known 
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ckh[pd; nrd;id 2023 vd;gJ> 
a. njhopy;El;gk; kw;Wk; fz;Lgpbg;GfSf;fhd Mrpahtpd; kpfg;nghpa cr;rp 

khehL 
b. epjp fzf;fpay; gw;wpa cyf khehL 
c. jfty; kw;Wk; fy;tp fz;Lgpbg;GfSf;fhd Mrpa cr;rp khehL 
d. ,ae;jpug; nghwpapay; kw;Wk; thdf;nghwpapay; Fwpj;j Njrpa khehL 
e. tpil njhpatpy;iy 

 
34. Match the following 

A. Shinyuu Maitri  1. Singapore 
B. FRINJEX – 2023  2. United Kingdom 
C. Bold Kurukshetra  3. France 
D. Konkan 2023   4. Japan 
 A B C D 
a. 2 3 1 4 
b. 4 3 1 2 
c. 4 2 1 3 
d. 3 1 4 2 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf. 
A. ~pd;A ikj;hp  1. rpq;fg;G+h; 
B. g;hpQ;nrf;]; 2023  2. If;fpa NguuR 
C. Nghy;l; FUN~j;uh  3. gpuhd;]; 
D. nfhq;fd; 2023  4. [g;ghd; 
 A B C D 
a. 2 3 1 4 
b. 4 3 1 2 
c. 4 2 1 3 
d. 3 1 4 2 
e. tpil njhpatpy;iy 
 

35. The first person of colour to lead the country Scotland is, 
a. Rishi Sunak   b. Anas Sarwar  c. Humza Yousaf 
d. Lisa Singh   e. Answer not known 
];fhl;yhe;jpd; Gjpa jiytuhf Njh;e;njLf;fg;gl;Ls;s Kjy; 
nts;isauy;yhjth;> 
a. hp~p Rdf;   b. mdh]; rh;thh;  c. `k;rh A+rg; 
d. yprh rpq;   e. tpil njhpatpy;iy 
 

36. Who has won the FIFA’s best men’s player award for the year 2023. 
a. Kylian Mbappe b. Karim Benzema  c. Christiano Ronaldo 
d. Lionel Messi  e. Answer not known 
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2023 Mk; Mz;bd; rpwe;j Mlth; tPuUf;fhd /gP/gh tpUijg; ngw;wth;> 
a. fpypad; vk;ghg;Ng b. fhpk; ngd;rpkh  c. fpwp];bahNdh nuhdhy;Nlh 
d. ypNahdy; nk];]p e. tpil njhpatpy;iy 
 

37. Consider the following statements 
1. 90-year-old writer Kamalam Chinnasami has won the Avvaiyar award 

2023. 
2. Avvaiyar award comprises a medal, Rs. 1 lakh and a certificate. 
3. Girl Child Empowerment award 2022 – 23 is awarded to M. Ilampirai. 
Which of the above statements is/are true? 
a. 1 and 2 only   b. 1 and 3 only   c. 1 only 
d. All the above   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
1. 90 tajhd vOj;jhsh; fkyk; rpd;drhkp 2023Mk; Mz;Lf;fhd 

mt;itahh; tpUijg; ngw;whh;. 
2. mt;itahh; tpUjpy; xU gjf;fk;> xU yl;rk; &gha; kw;Wk; xU jFjpr; 

rhd;W mspf;fg;gLfpwJ. 
3. 2022 – 23Mk; Mz;bw;fhd ngz; Foe;ijfSf;F mjpfhukspf;Fk; 

tpUJ M. ,sk;gpiwf;F toq;fg;gl;lJ. 
a. 1 kw;Wk; 2 kl;Lk;  b. 1 kw;Wk; 3 kl;Lk;  c. 1 kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

38. Raju’s father’s age is 5 years more than three-time Raju’s age. Find Raju’s 
age if his father is 44 years old? 
a. 10   b. 11      c. 13   
d. 18   e. Answer not known 
,uh[{tpd; je;ij tajhdJ> ,uh[{tpd; taijg; Nghy; 3 klq;if tpl 5 
mjpfk;. ,uh[{tpd; je;ij taJ 44 vdpy;> ,uh[{tpd; taJ vd;d? 
a. 10   b. 11      c. 13   
d. 18   e. tpil njhpatpy;iy 

 
39. The average of seven consecutive numbers is 20. The largest of this 

number  
a. 15   b. 19     c. 23   
d. 39    e. Answer not known 
mLj;jLj;j VO vz;fspd; ruhrhp 20 vdpy;>mt;ntz;fspy; kpfnghpavz; 
vJ? 
a. 15   b. 19     c. 23    
d. 39   e. tpil njhpatpy;iy 
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40. Find the ratio : 666 gm to 6 kg 
a. 111:1  b. 111:10    c. 111:100   
d. 111:1000 e. Answer not known 
“666 fpuhKf;F 6 fpNyhfpuhk;” vd;gjd; tpfpjk; fhz;f. 
a. 111:1  b. 111:10    c. 111:100   
d. 111:1000 e. tpil njhpatpy;iy 
 

41. The Indian film that has won the 95th Academy awards best documentary 
short film is,  
a. Meru    b. Writing with fire   
c. Life overtakes me  d. The Elephant Whisperors  
e. Answer not known 
95tJ mfhlkp tpUjpy; rpwe;j Mtzg;gl FWk;glj;jpd; tpUij ntd;w 
,e;jpa jpiug;glk;> 
a. NkU    b. iul;bq; tpj; /igah;   
c. iy/g; Xth;Nlf;]; kP d. jp vyp/gz;l; tp];guh;];  
e. tpil njhpatpy;iy 
 

42. Abel prize is given for the achievements in the field of, 
a. Physics   b. Mathematics   c. Ecology 
d. Botany   e. Answer not known 
ve;j Jiwapd; gq;fspg;gpw;fhf Vngy; ghpR toq;fg;gLfpwJ? 
a. ,aw;gpay;  b. fzpjtpay;   c. #oypay; 
d. jhtutpay;  e. tpil njhpatpy;iy 
 

43. Who is the first woman to operate the newly introduced Vande Bharat 
express train? 
a. Surekha Yadav b. Rekha Sharma   c. Rizwana 
d. Geeta Rana  e. Answer not known 
Gjpjhf mwpKfg;gLj;jg;gl;l te;Nj ghuj; tpiuT ,uapiy ,af;fpa Kjy; 
ngz;kzp> 
a. RNufh ahjt;  b. Nufh ~h;kh   c. hp];thdh 
d. fPjh uhzh  e. tpil njhpatpy;iy 
 

44. World Hearing Day is observed on 
a. March 10  b.  March 3   c. March 30 
d. March 18  e. Answer not known 
cyf nrtpj;jpwd; jpdk; mDrhpf;fg;gLk; ehs;>  
a. khh;r; 10   b. khh;r; 3    c. khh;r; 30 
d. khh;r; 18  e. tpil njhpatpy;iy 
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45. Life insurance is an activity of the _______. 
a. Secondary sector  b. Service sector  c. Primary sector 
d. Agricultural sector  e. Answer not known 

 MAs; fhg;gPlhdJ _______ nray;ghlhFk; 
 a. ,uz;lhk; epiyj;Jiw b. Nritj;Jiw   c. Kjd;ikj;Jiw 
 d. tptrhaj;Jiw  e. tpil njhpatpy;iy 
 
46. Economic development refers to  

a. Economic growth 
b. Gross Domestic Product 
c. Improvement in the well-being of the urban population 
d. Sustainable increase in Gross National Product 
nghUshjhu Kd;Ndw;wk; vd;gJ 
a. nghUshjhu tsh;r;rp 
b. nkhj;j cs;ehl;L cw;gj;jp 
c. efh;g;Gw kf;fspd; ey;tho;tpy; Kd;Ndw;wk; 
d. nkhj;j Njrpa cw;gj;jpapd; epiyahd mjpfhpg;G 

 

47. Demonetization means 
a. It involves introducing a new currency in the economy 
b. It involves reducing the official value of a currency in relation to other 

currencies  
c. It involves stripping a currency of its status as legal tender 
d. It involves increasing the official value of a currency in relation to other 

currencies 
gzkjpg;G ePf;fk; vd;gJ 
a. nghUshjhuj;jpy; xU Gjpa ehzaj;ij mwpKfg;gLj;JtJ 
b. kw;w ehzaq;fSld; njhlh;Gila ehzaj;jpd; mjpfhug;g+h;t kjpg;igf; 

Fiwg;gJ 
c. xU ehzaj;jpd; rl;lg;g+h;t epiyia mfw;WtJ 
d. kw;w ehzaq;fSld; njhlh;Gila ehzaj;jpd; mjpfhug;g+h;t kjpg;ig 

mjpfhpg;gJ 
 

48. A sum of money is to be distributed among A, B, C, D in the proportion of   
5 : 2 : 4 : 3. If C gets Rs. 1,000 more than D. What is B’s share? 
a. Rs. 1,000  b. Rs. 3,000   c. Rs. 2,000 
d. 4,000   e. Answer not known 
A, B, C, D vd;gth;fs; xU Fwpg;gpl;l njhifia 5 : 2 : 4 : 3 vd;w 
tpfpjj;jpy; gq;fpLfpd;wdh;. ,jpy; C vd;gth; D I tpl &. 1,000 mjpfk; 
ngWfpwhh; vdpy; B d; gq;F vd;d? 
a. Rs. 1,000  b. Rs. 3,000   c. Rs. 2,000  
d. 4,000   e. tpil njhpatpy;iy 
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49. The mean of 5 numbers is 20. If one number is excluded their mean is 15. 
Then the excluded number is 
a. 5   b. 40     c. 20   
d. 10   e. Answer not known  
5 vz;fspd; $l;Lr;ruhrhp 20. mtw;wpypUe;J xU vz;iz ePf;fpdhy; 
mtw;wpd; $l;Lr;ruhrhp 15 vdpy;> ePf;fg;gl;l vz; 
a. 5   b. 40     c. 20   
d. 10   e. tpil njhpatpy;iy 

 
50. If in 30 litres mixture of milk and water the ratio of milk and water is 7 : 3, 

find out the quantity of water to be mixed in order to make this ratio 3 : 7? 
a. 40 litres   b. 50 litres    c. 60 litres  
d. 80 litres   e. Answer not known  
30 ypl;lh; fyitapy; ghy; kw;Wk; jz;zPhpd; tpfpjk; KiwNa 7 : 3 Mf 
,Ue;jJ. ,g;nghOJ rpy ypl;lh; jz;zPh; Nrh;f;fg;gl;lgpwF mjd; tpfpjk; 
KiwNa 3 : 7 Mf khWfpwJ vdpy; vt;tsT ypl;lh; jz;zPh; 
Nrh;f;fg;gl;lJ? 
a. 40 ypl;lh;  b. 50 ypl;lh;   c. 60 ypl;lh; 
d. 80 ypl;lh;  e. tpil njhpatpy;iy 
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WEEK TEST 2 OF MAY, 2023 
 

1 2 3 4 5 6 7 8 9 10 
C D C A B C A C D A 

11 12 13 14 15 16 17 18 19 20 
D A C A B D C A B A 

21 22 23 24 25 26 27 28 29 30 
B C B A A B A B B D 

31 32 33 34 35 36 37 38 39 40 
D C A B C D D C C D 

41 42 43 44 45 46 47 48 49 50 
D B A B B D C C B A 

 
 


